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Migration Movement from one place to another. A N D l D E N T I T Y

IMMIGRATION

Travelling into a country to live.

Immigration

Exiting one country to live somewhere PRE WORK BOOK 9 - 10
else.
Emigration
Something that makes people want to ——

leave their home. IS pesssssssnsnsnsnsnnnn N
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Push factor

Something that attracts people to a

place.
Pull factor
A person who has been forced to leave
their country.
Refugee

Tangata Whenua First peoples of Aotearoa New Zealand.

New Zealand

iti Part of the
Maritime Museum Auckland Council S
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NO HEA KOE?

Where are you from?

Where were you born?

Where were your parents and grandparents born?
Where were other family members born?

Why did your family move to Aotearoa?

Have you always lived in Aotearoa?

CLASS BINGO

Write the name of a classmate who can

answer one of the boxes.

Born in NZ

Has Maori
whakapapa

Has a traditional
name

Born over seas

Travelled to
another country

Has a religion

One parent
born overseas

Has family
living overseas

Multilingual



PUSH AND PULL

People move around the world for many reasons. These

reasons can be split into Push and Pull factors.

A push factor of migrating
to another place is
something that has forced
someone to leave. An

example of this is war.

Can You think of any other

oull factors?

Can you think of any other
push factors?

A pull factor of migrating to
another place is something

that makes moving to another

country more appeadling. An

example of this is better

education.

Immigration!
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EMIGRATION
MONEY
FAMILY
PULL
BOAT
PUSH
WAR
GOLD
PLANE
JOBS
IMMIGRATION
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